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11. Which of the following is not true ? 1. f

. fes 72
sargR i3 A
‘ (a) -
(@) Congress and SP can take out 4o FEE TS | '
their processions on the same I Z 1%l Fec
4 ' Fraft i, § =189 2 |
day. (b) nfaT sar fest 77 ?’aﬁ
=i )
() The CPM procession cannot be Nl =
allowed on Thursday. © A 9=B HagEd C T
: Faet I
(©) The BJP procession can only take ez B
- place on Friday. @ aiaen I ar M. T
| S 05 |
(d) Congress and BSP can take out HGH o2
~ their processions on the same
day. ‘ .
| g i sentences 1S
12. Which of the following sentences is | 12. Which of the wing
correct ? correct ? Q}
(@) Its finally a holiday, and my dog (a) I v a holiday, and my dog
is happily wagging its tail. /{@ appily wagging its tail.
(b) Its finally a holiday, and my dog

(b)" Its finally a holiday, and my dog
4{\‘ 1s happily wagging it’s tail.
4

It’s finally & holiday,and my &%\ (c)
is happily wagging its tail.

is happily wagging it’s tail,
(c)

It’s finally a holiday, and my dog

is happily wagging its tail.
D) It's finally g holiday, \&E{y dog d) Its finally a holiday, ang my dog
is happily waggin\g§'§ il. is happily wagging it’s tail

eek, she seemed
to be — ___the Weather.
(@) over
(b) under
against
| (c) against
| (d) None of the above

(@  None of the above
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14, In n meeting Raji
S It alwaye he ing h
ﬂnnl,.(;;w(!ﬂ with May hg )\;vrong bﬁut ‘":
%:’i t"“’""‘“ My impurtinoncu,, but...
at style of COMMmunication iy Raiit
following ? " aa
(2)  Assertiye
(b) Pﬂﬁﬂfve aggressive o
Manipulagiye .

(¢) Passive
(d) None of the ahove

16. Before ANy negotiation, Ramegh first
met the clfent informally, chatted with
hu.n and listened attentively to all hig
points, O_nly when he gathered al] the
releva}nt. Information, did he push for a
negotiation. Ramegh wag a
(a) Win-loge negotiator
(b) Win-win negotiator |
(¢) Lose-win negotiator
(d) None of the above

16.

Gita listened to the views of others

their merit. Her listening styl
(a) Judging

(b) Evaluative )
(c) £ Active

(d) Nene of the \agﬁ

ave a 12-hour digital
the number representing
§ Zlways the same as the
epresenting the minute. That
ck can only show times like

&
U
o

(a) 101 minutes
(b) 61 minutes
(c) 60 minutes
(d) 49 minutes
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19.

Read these six conditional claims :

1. Ifit's an apple, then it's a fruit. .

If it's a fruit, then it's an apple.
It's an apple ifit's a fruit.
It's a fruit if it's an apple.

It's not a fruit if it's not an apple.

o o p @ W

It's not an apple if it's not a fruit.

Out of these six conditional claims

which three claims have the answer as
Yes ?

(a) 2,3,5
(b) 2,3,4
() 3,4,5
(d 1,4,6
Hina Yellow, Jhanvi Red and Leena

Gray each have a gray handbag, a
yellow handbag and a red handbag,

but none of them has a handbag colour
that matches their name. They met
unexpectedly one day. The lady with
the red handbag commented, “Howw

“Most odd indeed!” Which option a
the lady name and coloyr (Q)t
handbag is correct ?

(a) Leena Gray— red col
Hina Yellow ay

T CO]OUI-.EhaIldbag’
_  gray colour

e

andbag,
colour

red colour
Red-yellow

colour
red

fena Gray yellow
handbag, Hina Yellow —
colour handbag

(D -

18. fore & H93

MU

5 forg fora a3, = 23 359
Ffeognd, 3 feg AT I 17
feg a3, A fegEe I
fegem I, Afeo ag I 17
feg @& &dr I, 0 f29 a7t
ol

EWER

(a) £293,5

B 2,3,4 {(7
€ 3,4,5

odd!” to which Leena Gray replieds:&\ fea fes

(a) @ I — I Far Tz, J&
b) HEr i — IF Jar 3T,
(© dier 88 — 3 Jar Isha, FIasT
3% - OF Jar TzTa
(d) mm—aﬁwm,m
&% — 35 Jar Iz
9)



20. Read

21.

Paper |

the
carefully

information
the

following
and then
question given below.

answer

1. AAB means A is mother of B.
2. A@B means A is sister of B.
3. A*B means A is father of B.
4. A#B means A is brother of B.

Which of the following means R is
uncle of T ?

(a) R*P#SAQ@T
(b) S*P#R*U#T
(¢) P*R#Q@S*T
(d) P*R@Q@S*T
Warangal Warriors, Thapax; Thunders,
Rohtak Rockers and Vellore Vikings
are four Kabbadi Teams who compete

against each other so that there are
six matches in order to decide

t
N)

champion.

1. “Vellore Vikings” is tqa}&by
“Warangal Warrior&éd

2. “Thapar Thund r@beat “Vellore
Vikings”. \XS

Mg %\ Warriors” and
Ak Rockers” beat “Thapar

Rockers” beats
:ngal Warriors” and “Vellore

ho emerges as the champion ?
(a)
(h)
(c)

Warangal Warriors
Thapar Thunders
Rohtak Rockers

0)

(d) Vellore Vikings

(D-10)
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(a) R*P#SAQ@T

(b) S'PHRSUST

(€) PHR#Q@SHT

(0 P*REQ
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8 garfenr |

3z 73 ¥ & §afanr ¢

TII® TIENEH

gUT H9d

CRECARERR]

W fefdam

(b)
(¢)
(d)



22, The afternoon classes in a school begin

23.

- into 9 equal pieces. % of the fi

has been eatep 4

at 2:.00 P.M. ang end at 4:62 P.M,
There are four afternoon clasg periods
with 4 minuteg between periods, The

number of minutes in each class
period is
(a) 39
(b) 40

() 36

d 45

At a party there are 3 large pizzaglof
equal size. Each Pizza haghbeén cut
rst pizzu(

has been eaten - g—"\of the'second® pigy )

INd pizza

has been eaten Wha%on of the
3 pizzas is left ? &

g of the

Paper ||
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4:62 3 wfuge we w3 Jdat g8 )
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Ui feg o9 gl vggr O ) o9
soH W G3 ite o) |

(a) 39

(b 40

(¢) 486

(d)y, 45
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24, ¥
The three Volumes of Fyeyelopedia of
'8dom sit in geder on & shell
ce :lot.\\'eon the volumes, all
= S0 that their spines are
' - spines  ar
visible, lefy ¢, right : I, I and 1L
mm  thick, comprising
i: lm“\1 of total pages and 8 mm for
crl SOVer. A bookworm bores from
page 1, volume 1, to the last page of
volume 111, How far does it travel ?
@) 90 mm
(b) 86 mm
©) 72 mm

(d 84 mm
(25)

According to o survey at a company,

20 percent of the employees owned coll
phones in 1994, and 60 percent of the
employees owned cell phones in 1998,
From 1994 to 1998, what was “the
percent increase in the [(eaetion of
employees who owned coll phones ?

N NS e
Rl e P H Y
ROUIE] o 3 feR U
pett & T v Rt W

gq, foanf®

it 5

SRR LR O ERL
30 mm. A feo ML . et
30 mmn, o

W ¥ 3 mm E‘}@ & |‘:‘ ﬂ)l\ﬁ }.\‘\ﬂ
ot ufindt el S y 8 S

3 ) b, D= AoV
3 iyt TIEFHFT

At wrsEtel =t
() A0 mm
() 86 mm
(@72 mm (7
() 8 nun\{
25, uat { Dt @ AN, 1994 fw

pou RGOl ARds R AS E

Wi qud ¥ 60% saHodt AN
/Q‘g}\‘nm HS 11994 3 1998 3] NI

Ny o® wodwdht @ @dEmS

W o {b (fraction)  few A& yfaps o
(b)  20% \\Y~ Jfemp
(C) 30% {\‘ (ll) 3%
(d) 200% \ EQ) (b 20%
(e)  30%
%’ (d) 200%

26.

salary decreased by
thoir annual salaries
2019, then Arun's

pry in 2018 was  what
wfater than Mohan's annual
018 ?

From 2018 to 2%&\“01\:11\‘3 annual
inm‘on?l‘_ 10 percent and

If

© 1678
(d) 1098
Paper Il

26. 2018 = 2019 IR, HUs o ST

ST R 10% o G wR niga
@ IS IRUT 5% W | AR 2019
few @yt ot wrar 3wt warwg 1
3t 2018 W nigE @ seug Now @t

2018 & s8Y &8 N yEiis vy
At 9 ‘

(@) 1691
(b) 1334
() 15678
(d) 1098
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3
27. A candidate Scores 20% and failg by | 27. fex @tee™ 20% »ia aHs I

- 3 qeT 9
45 marks ang another candidate who "3 45 M uie IT < s 7 IS
scores 45% marksg gets 30 marks more 3 fex 39 Steeg 7 45% ﬁap o
than the Minimum required to pass sger 3, fffimr um FEs @ Ul
the examination, Fing the maximum riat 3* 30 vix Fu B Ber I | UG HO
marks for the examination. ¥ 20 Fu i TIAQ |
(@) 100 (a) 100
(b) 200 (b) 200
© 400 () 400
@ 300 800

T (5 5. 28-29) : 59 T et
mm?mébwﬁm g & foE I

pimctwm (Q. No. 28 - 29) : Based on the Z- qloa ©1. 2015 g G397 € AaF 3

information &ven below W
Airline’s trips to 6 cities from New Delhi in '

the year 2015 - S fodt 3 (%g?g‘cﬁ
Distances from Q}

New Delhi by Air
2,000

e

o

@

E

2

=

e

8

5

=

[}

= g -] ~(.:; ¢
s 2 g 8 \
600 Number of Plang Trips from New Del

. ] Ranchi, Kolkata, Panaji, Pune, Kavarattj ar
§ 500

<

2

5

%

Paper || (D-13)



Information :

ot : @ No. 30
2 . . No.
1 Dueto H"fm" runm‘m planes only made L gy T : ¢ i‘;ﬁ;ﬁ;ﬁfbeirg the mass
these trips  before op after  the - ) Iga Hgat i Jivided by the square
137‘.é|_ 3 =) . vudec J. . .
January-March period, HEARE A v = ufgmr T s ) The data about
Jn p f’%’? U’} fXE,’U 3 3 . metres). . ble below
2. The month of May offers the best, SR S ont s | given in the table below.
weather conditions, 2. lﬁ‘ﬂ AN v e vy BUE- £ . H—t'_
3. The easterly winds run at 9 km/hour YUHIH gger | Person  Height (
¥ . 1-45
east to west, fl\l year, . 3. It Tt L (g A -
4. Planes on tnps. to Ranchi and Kolkata 2 famtzg yFt iz 3 ST T | B =
must push against the easterly windsg, 4. TH F 3 . 9 N i C 1-55
5. Planes on trips to Panaji, Pune ang TJeret & ﬁ. o M v § = D 1-7C
Kavaratti are carried along by the T Ty e E 1-8(
easterly winds. 5.
Pl tri
6. anes on trips to anar cross the B 1 on this data &
current and 8o experience no counter | 6. below -
or favourable effect, )
28. How far is it from Ranchi to Munnar ? 30. Which of the
test BMI ?
(a) 3000 km 28. ﬁt}méeﬁﬁﬁﬁ%%‘v greatest
(b) 2000 km ‘ @ W (a) A
© 800 km X fadies ® B
(d) Cannot be determined 5
\&) 800 fadires © C
(d)  forfes &t Sz 7 maer
29. Taking account of the distance, : @ D
the winds, if a plane were to ﬂy% 29. IR i3 TR § feow fow Bfow
New Delhi toKolkata (to and &; d Ifentt Faw fex it ez o fox
another one from New DelhA tMPune AIH &=t f¥#H 3 Smasr 3 83% 9 31. If an adolesce
(to and fro) at'a constan , which Bz-7%) »3 fex I9 wow Foin 10% a.nd his
tripsersTrs expe e completed & 3 wd Be—72) 83w 33 =f much will his
RPa foodt oz o wH dw e @ (@ Plus 119
cata (to and fro) BT 39w 7 7 (fast IN)
. P - . (b) Plus 10¢
vou'ld take the same @ &= E-dmasr (r@z-wrz)
(b) T wr3get o AHt Rsatnr (©  Minus ¢
Pune (to and fro) (©) &= fEH-ud mrBz-am) @ Mings
determined : @ forfes &t A= & Aaw
(D-14)
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Directions (Q. No. 30 - 31) : BMI is
defined as being the mass of a person (in kg)
divided by the square of the height (in
metres). The data about 5 persons has been

given in the table below.

Person | Height (m) | Weight (kg)
A 1-45 ~ 45
B 1-50 50
F C 1-55 55
D 1-70 60
| E 180 | 70 |

Based on this data answer the questions

below :

30. Which of the following has the
greatest BMI ?
(a) A
(b) B . .
(¢ C {\2\
d D \ EQ}

gscent’s }&klncreases by

31. If g

Paper |l

(d) Minus 10%

ei
S 10%, by how

aanﬁ’a"(z{a’rfa‘i 30 -31) g7 9. 2
9%(%@#@»@%%

“U'fez‘r'faﬁr@a?ﬂﬁnrrs"r(BIvII)

\i\‘ 5 fiporer I 7

(a A
(b) B
) C
d D
81. ﬁaafea&amﬁﬁfémas‘fe*é?m%

gg ¥ 10% <uer I 3 B €
Fontnmet, feg ot ufeeass niear ?

(a) USBHA 11%
(b) UBH 10%
(¢) WTEISH 9%
(d) HTEISH 10%
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Directions (Q. No.

diagram given, below
An automobile

Company has aqy
different disciplineg

2-33) : Answer the following Questions based on, the information anq
: ertised for the appointment of trainee engineerg in
- First the applications
ones are called to the main ce

Teceived gare thoroughly Scrutinized and good
‘ ntre of the company for ty, written tests and a viva. The
written tests aye of 2 hrg duration each.

The first Written tegt E,
test E, checks the basgi
appear in both |

1and E
for fina] selection_

the second written

S were required to
were allowed to appear in the vivg

the candidate

either w itten test E

1 or Ey) and if
ich com may take his/her other
iva, es in this second Stage, he
third stage. ‘

w&) for the remaining exam in

r %e]ection. A candidate ig rejected

ge. The expenses.ate = 500 Qan idate for conducting each of E,,

following historical datq candidates is availg

selections. . }(

ble from pPrevious

A candidate has to
if s/he fail

Out of 60 Candidates
(Who Cleared E; Test)

Cleared E
but failed

Out of 70 Candidates \
(Who Cleared E, Test) ‘

Cleared E Qleared Vivaj

but failed Qi

Paper I
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< based on the information and

nent of trainee engineers j,
roughly scrutinized and good

sritten tests and a vivg. The

»und and the second Written
andidates were required to
llowed to appear in the vivg

ocedure. Now they want to

itten test (E; or E,) and if
ny may take his/her other

‘or the remaining exam in

n. A candidate is rejected
or conducting each of E;
- available from previous

t of 60 Candidates
ho Cleared E, Test)

m§%wéﬁ%mﬁu}§m?éﬂww;g€fsﬁuﬁﬁwﬁﬁﬁ

Wkaﬁmamg@%az;
Uﬁérnznfé’aea@ﬁw;szlWEZfeﬁﬁﬂﬁfaa
WFH@M”@F‘E{E’@UW&HBE?W?’T%B’* eH e
wwmﬁmauamm(ﬁmama' g7 At
37 89wl ST wsitfiont et Hmet mog g » .

3 USHaT (viva) UTH 98t ydlt |

feg Boz & UFaH
oo dhust gr € gAdt
HEH & UTH 99 BT I

@}?m§"h?ﬁn-r§38ér€€%aéf
f‘anérn@mavf‘ea%zsﬁmge;ﬂ?w“ i | By, Ey, 3 At udtfimr (viva)
9 fex ¥ Auws @yt € 50 499 I | foMs yIedst A@ame €

100 SHte=o = fef3ume »ias € gl
ufodst mergrfes »@ ¥ 33 100 Sfteea fed
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2. Wh
at j ‘9 l-f'g‘gﬂ' AeH
'S the ratjq of the “percentage of | 32

candiday s Gudz g mew 3 B2 “
' ©8 clearing E, exam in second N - fonft &
Stage afy ydtfr § U9 O
®r clearing E, exam in first A C | - . |
Stage” « 1|3"‘1'F|33"” w3 “yfodt HeH 2
8" 10 “Percentage of candidates

clearip : .
g E1 €Xam in second stage after

clearip
faring E, exam in first stage” ?

(a) %_2_
3 )
i (a) ;g
b) 2.2 (7
77
| (b) -,?’Q}“g
© 2.3 '
c) 7 QQA:a
' /{0 7T
@ %:l |

[}
»
e
| w
| =

33. 4Whatlis the percAé;@ vof candidates |
» - 33. €a' Sifeeg o
who are fail}&Qsecond stage viva TeF GBI Ecy fedt I &
e

ma% aring B, exam in first mﬁ“Ezuﬁmwﬂm
hed 2

= HYR it
- (viva) f_ﬁ'ﬁ'é’gﬁéq
66-7% ‘

(a) 66-79

(b) 5% :
(b) 759

() 25%
() 259

@ 333%
(d) 33-3%

paper |l
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Directions (Q. No, 34 - 35)

questions are based on the informat.io
diagram given beloy :

A survey was conducted op a sam
cinema artists with reference

proficiency in the skil] of acting, si
dancing. The results of the ¢
depicted in the given Venn diagr

&

Dancing

These
n and

ple of 500

to their
nging anqd
urvey are
am.

Acting

Singing

34. What is the ratio of the number of
cinema artists who are not proficient
In any of these three skills X, oy
those who are proficient in all three
X3 ?
(a)
(b)
(c)
(d)

If all other data remain e, how
y Gipema artigts “gpo are not

of?&é three skills
oficient in all three,

5:
6:
3:
1:

© Ot 3 =3

35.

Paper Il

Fenfedt (4 3. 34-35) @Wﬁg

500 frw-amardt ¥ wg @ w2

To9, arfee ni3 T3
FoduE o3 fomr |

& gres @ TWH 70
FayE € a0 C

- JfeE

35.

(D-19)

we !

®

Aag gt wigzr g 9fder 9 3F R
541 75, T 36t feu IA® 7 A 3 A
Bua rifas frdwr awaat 7 fan &
759 o9 9m% &df 76 (X)) 3 7 f35
T Xy fov 378 76 & I/ o=
XO:X3=1:4HEFF€'I

(a)
(b)
(c)
(d)

12
21
15
10




- ram [0 Flight
Directions (Q. No. 36 - 37 . jven pelow diagr®
bRy ) : Based on the informatior J4
Seh}éta sele2 ¢ ) 4
destination fli ita Select number Select further
g of passengers options
A A (08.00| Rs. 2250
" . o|| A[i]2[3]4 i : &
08.00] Rs. 22600 | | A[T1Z10S Lug}?ﬁﬁc in * Add R#. 2000 per 1€
B 15; gf;‘go Rs. 14200 B[1[2]3[4
001 Rs. 142001 | B ETa1al4 rravel || ¥es ] * Add Its. 900
nﬂur- 10
C g ;;.00 Rs. 6300|| C[1[2]|3[4 l :
, .00 Rs. 7200 C[1]2]3]4 |
D D |08.00| Rs. 8000 l __J "'nvirmumnlnl Yvn « Add R#. 360
s o [TZTaTE nﬁml
.00| Rs. 10400 D[1]2[3]4 ‘
| l’muullu
l 21) ] chockout

ach passen@igr P& flight

o

# These additional cost8 apply to ¢

3 4
HAea &t nIABI
faredt 9 feamy IS
\ 21234 H’rﬁm
1/2 T -
\\ BIZZ‘: 18] +a000 guit wrfeen @
B[1]2]3]|4 ﬁ7
pr iEcH :
| L) om e
1[2[3]4
0 p[1[2[3]4 il FIRIE
3 D [16.00] Rs. 10400| | D[1]2]3]4 il wrgfe It | *360 quB @

*Mwmmmgwmwmﬁ
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36.

37.

38.

Paper Il

How much mepe
morning flight ¢
afternoon flight for
destination B with
and total threg items

is the cost of g
mpared with gy
a family of four to
travel insurance
of hold luggage ?
(@) =9600

b) = 22,800

() = 4,400

d) 17,600

A party of three book to fly on the

afternoon flight to destination C and
opt for total two items of hold luggage
and the environment offset. How much
is the cost of their trip ?

(a) ¥ 26,650
(b) 25600
() ¥ 26,300

(d 27,600

Set M has 42 students and set @.&
60 students. At {least 12 e
] 1

students in et N.
. Qg cagnot be the
ldents in set N

(d) 42

36.

317.

<

Q
v

(D-21)

T3 WaS' 2 i uftrerg e, ¥ B
3 g w3 AR mes w55
goElec ge efige & ewElc &%
fadt T i3 & J ¢

(a) ¥ 9,600

(b) ¥ 22,800

(c)

(d)

s fenighat 2 Mg 1% Bl
Weﬁmﬁ =§H(book)

3T, G5 3 TS doft @
Wi w3 S 8 niuz
aism@i 3ar & A3 ot
Jeaft 9

(a) 6,650

¥ 4,400
¥ 17,600

325,600
¥ 26,300
¥ 27,600

38. Mﬁéﬁgm%@mﬁmm%ﬁéN

ﬁasoﬁ'ﬁmwaslzﬂ%zﬁzM%
élzﬁﬁwaa}ﬁz“m%gaﬁml
m&#ﬁN%mﬁ%ﬁaﬁg
ﬁmﬁsﬁﬁﬂaﬁrﬁﬁﬁé‘Mﬁv
&4t 75 ¢
(a) 32
(b) 45
() 28
(d) 42




39.

40.

Paper |

PPOE

When the following shape is folded to
form a cube, which is the only one of

the options from A to D that can be
produced ?

39.

([
S |
Options from A to D

(a)
(b)
(c)
d D

Q= »

40.
A container of milk was % full. When

5 bottles of milk were taken out and
3 bottles of milk were poured into it, it

s
2 E
was 2 full. How many: beftles of milk \

%?ﬁquare Jawn at | 41
00 per hectare is

e cost of putting a fence

can the container contain ?
(a) 12
(b) 24
(e) 20
d 15

(D-22)

7 fas wiarg § fagw feg W &
Ufgeafss T Aer 9 3T A3 D 3
Sew foadt nmurs der T FeET J 2

°

(o2

A 3 D niuRst

S0

D
(a) A \{(7
(b) B
@©nC Q}
(d) D

@w@ﬁwmmﬁ

5 53% WU ot de et et
S5 g3% du @ ur it
3t feg W% % gfanr Jfenr

A Tu T 9w fou fdat gu St

T35 U AdGE I8 ¢

(a) 12

(b) 24

() 20

d 15

fex gomT gate & St O WS
INR 700 yst Jaes © forw =&
INR 4,375 3 | S99 € 99 UR T3
BITQE & StHI INR 45:45 Y3t g @
forme as feidt 9t (INR few)

(a) 10,000

(b) 43,750

(c) 45,450

(d) 25,000

=+ <=
gh>ich of th
corre°t?
(a) 24 x 4>
(b) 24 <4>
(© 24 #4<
) 24>4%

42.

Directions: Q. 1
following  inform

questions using thi

There are five boy
in the first line fac
are five girls, A, E
second line parall
facing to the nort
sitting in such a w
e A is sitting :
e q who is ju
opposite to ]
e Bandr a
each other.
e t is opposi
right of A.

Which pair
each other ?
(@) CD anc
(b) AC anc
(©) CD anc
(d) DB anc

Who i sittiy
(a) B

(b) D

© A

d) E
Which of
diagonally ]
(@) ¢t

(b) Eq

(c) Ap

(d) Dp

45,
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42, >=4<ny xex

which of the followiy
correct ?

@) 24x4>20<2416
(b) 24<d4>242x16
(€ 24#4<20x2>16
d) 24>4x20<2#16

and # = ~ thep
¢ equations iy

Direc?ions: (Q. No. 48 - 46) : Read the
following information and answer the
questions using this information.

'.I‘here are five boys, p, q, r, s, and t, sitting
In the first line facing south, However, there
are five girls, A, B, C, D, and E, sitting in a
sec.ond line parallel to the first line and are
facing to the north. The boys and girls are
sitting in such a way that

* Aissitting at one end of the line.

q who is just next to the left of s, is
opposite to E.

B and r are diagonally opposite to
each other.

t is opposite to C who is just next
right of A.

43.

Which pairs are sitting opposite
each other ?

(@) CDandrt \é“'
(b) AC and'sp 0’
(¢) CDandts QX

diagonally opposite to each other ?
(a) Ct :

(b) Eq

(c) Ap

(d) Dp

Paper |l

4

™

42. m>=+!<=+,)<==h{§'#=-‘,3+
figt fed' fouft fearme (equation)
dlar 9 ¢ ~
() 24x4>20<2#16

(b) 24<4>20#2x16

(¢) 24#4<20x2>16

(d) 24>4x20<2416 ;

gt (yiE B 43 - 46) © [5HE JI O

Jienr fe8 |

ﬂﬁm,l’aq,r,s»@tuﬁﬁmfgg

Sz ety 33 T601Bfs, U wEEmit 05,

A, B, C, D n3 E 7 Ul 3 meEsd

oAl T3 €39 Amfe PPt 75 |
sFA3 B fER I fa
o AgFsT R Erig
° q,S_;T Befeudz 3

° t};@@ gﬂ% % 5"‘83“52;5'
Jo |
Cefeud3 ddfa AT feaer
\&\, J |
18, o3 e fea omd 2 Fudls 33 05 9
(a) CDM3 rt
(b) ACM3 sp
() CD¥3ts
(d DBM3sp
. CEHY UH AT oE o7 T 7
(a) B
(b) D
(@ A
@ E
45. fos det feg fao3 sfeasdt feg
tRRefuds w7
(a) Ct
(b) Eq
(c) Ap
(d) Dp

(D-23)




46 1
e E
: a
““'@“chzg Db anq w3 D, p 73 b 4 " 7t
Wil b 182 theg, pogiy; "4 A and B | gg 5o ¢ £ gem B2 T T
of the e SB%nd Sitions, then who wnFnt Ffagt 3 > T
Perg, Person 1o the 14 ht SRELCELl
pet‘s\)n n 0 8 fenarst gl fgyyra?ﬂ'
@ “Stong to ¢, N l;Dposite to the dz s o o5
r ®Tight of y 9 TATT 32 7 D SR ©
o P @ feudts 2
© g
@) (a) r
(b) p
E
Di?'ectio (¢)
ns (Q.
followlng paS?QgNo. 47 - 48) . Read the (d)C o
baseq on jt. ¢ and Solve the questions (. 5 47-48) : WZ???U'?
. . . . n v "/
L Bhargy | oS 1w 3 ypet § 98 &9
hang
and Fe on , %lln, Dlnesh, Eeshwar w3
of the Same Zl‘e COusing, None o them are gfgrg, des, feam, €7
~ e)
blrthdaYS on thegs U all of e

75 (cousins) a5 | st fos ET

IS 17 year olde da:;e. o st o ‘ D9 = ot 3 ued W %HFFH
the eldest, i 22 ye:II-; fgs}l;v o wm/{% o e it ¥ fegt fa? g 3 gET
SOmewhere betwee,, Bharat a‘mde;)g:uson 11151 17 7% = 3 ny e, 78 3 ?ET, 2 HT&\T
age.AmitiseldertoBharatanglC ‘f%is ElC m%ﬁgﬁg@m
older thap Dinegjf . \@ 38 2 fevas 3 | wifig 993 3 %5 3

O™ "3 Feo fody 3 2mry |

47. Which of the fo] ow'lﬁ)ﬁé not possible ? 47. fé‘?&-r o5 ot A= adt T 2
(2) Winesh is @ ars old (@) fedm 20 At &
(b) Fergﬁsl 18 years old (b) IIIH® 18 A&t gr g
() W n1s 19 years old

(©) FITH5 19 At @
Feyguson is 20 years glq (@) TITHE 20 At @

;- Arat 1s 17 years old, then which of | 48. #JT I93 17 At ' Y I e &9

following could be the ages of fedn »3 Jus ot 8HT g faot 5§
esh and Chandan respectively ? RS T ?
18 and 19 (a) 18013 19
19 and 21 (b) 1991391
(c) 18and 20 () 18 :g 20
(d) 18 and 21 d) 18n3 91

(D-24)
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Directions (Q. No. 49) : Read the
statements and solve the

these,

A. Many ones are threos,

B, All twos are fours,

C. Afew ones aro twos,

D, All fours are threes,

E. Al twos are threoes,

49. In the four options given below, throe
statements are put together in a
specific order, Choose the option which
indicates a valid argument, that is
when the third statement is a
conclusion drawn from the preceding
two statements,

(a) DEB
(b) ACE
(c) CEA
(d) EAC
\# )0.
60. Which of the following staten QB’

Paper Il

——_""-_—-——

following
question baned op

follows logically. from the sym{dMpent

“India will tallg, only if the\tNgrorists
are handed over” ?

g uEz handed over,

alk.

¥ talk implies that
s have not been

talk though the
terrorists are not handed over.
(d) India will talk implies the
terrorists are handed over.
(D-26)

A.
B.
C.
D.

I,

49.

‘\4\,@5

gt (yis B 49) s ¢ i d
it ¥t 3 ety ypest 3 9 ad |

w9 Ard @il adli de |
AT 2] @i 96 |

gy woi ¢f J6 |

yrrd @ail w98 |

g 2 wdly 9 |

¥ fednrt ora fampme’ 7w 35 @60
feiy g fel@sig a2 5 | BT Wi
g& wolfagtmar aus pifos €2 aaat

=y ﬁm’a‘a}f Jz d N{r’_ E'WW) U%’ [

(@) DIEB Q
(ll)@g
(¢c) CKN

IAC
fosorser & ¢
(a) »rEdqREnt & Afinr foor 3,
fen »et 3793 @& F9ar |

(b) 93 IB &It I I I T fx

mEaeremit 3 Rfinr  sdt

famrr |

(¢) I3 IS JIIT I MIFTT
& Ffimr &t famr |

(d) 393 I8 TG I I I fx
nrEaeE BU A |



. Ats duffet. SIX sweets are “‘Tmlg\\d in
T ¢ ancular onder on g table, Burfy i
cpeesite Halwa There j¢ OMe Sweet
S\hﬂ\\n Laddu ang Jaleb Gulay
wman ¥ W the night of H&l\\t\\
Rassgulls s one of the SWeRtS. Whyey,
swaet 18 WO places RWAY t0 the 1
Gulsd jamun ?

eft of
@ Lsddu

53. Whois the fourth ranker

(a) Charan
(b)y Pavan

(¢) Sravan

(d) Tarun
54. How many persons ¢
\ Hslws Pavan ?
Q S <
(a) One
= %mufthmelsmpb: Selectedfmm (b Two

S petSas Van, Sravay Three
Rsghsvsn.  Aman, Dhawap angd ‘_c)
Bhsvsn. such thst if ope of Pavan gnq (d Four
Stsvan is selecteg then the other myg; . :
X be selected. Qne of R&gha DR ) 55. There are five rooms
=2d Dhswen is net selected then 11,0 : ) hall, kitchen, stud:
other must not bhe select : . : ‘ and dining room. Th
= thy e Aman . S Bl each room. Wheneve
nat §}efted 0 who my.; Wl g is on, the study
selected? Whenever the dinir
(@) Bhsvan the kitchen light is
®' Psven
‘¢! Raghavan
@

the study room 1

light has to be on. T

the most, can be on
Noane of the abové @ 5
b 4

© 3

- ' g @ 2
s > 56.
. and Kiran I 3 :
a class, net i § 3
)] = o

In a joint family .
C, D, E, F an
married couples.
the wife of B. A
of G. D is the f

father of E. F:
son. How is B re
's the third ranker. %IH@?E’%H‘HWU&%%?%W @ Sister
* the first ranker but @amm?ﬁlméaxfeaf@mi ®) Uncle
: “ravan is taller than only | - 3 Sgh oy i} (©  Cous;
: B I, I faws T e Y in
‘TarunistallerthanKiran. \
(D-26)

(d) None of tl
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Who is the fourth ranker ?
&) Charan

(b)
()
d

Pavan
Sravan
Tarun

How many persons are taller than
Pavan ?

(@) One
(b) Two
(¢) Three
(d) Four

There are five rooms in my house — a
hall, kitchen, study room, bedroom
and dining room. There is one light in
each room. Whenever the kitchen light
is on, the study room light is off.
Whenever the dining room light is on,
the kitchen light is also on. Whenever
the study room light is on, the hall
light has to be on. How many lights, at
the most, can be on simultaneously ?

. O
\{3’

N W s »m

53.

54.

55.

(d) None of the above

\o%%

o ¥ farer 3

(a) 996

(0 H=o

d 39¢

e 3 B8 fa3 femedl 95
(@ &

(b) ©

(e) 35

(@ gd

NS w3 fegglmaHd I6 — I'%, aRET,

m@{,%aﬂ maﬂ | dJ9

3 femfea %'Wéaﬁ
&gwéﬁ?ﬂ?fﬁ Cl

g—trérgrfeﬁar‘cm

% gAEt € e

ﬂ?ﬂ'&’é‘faﬂam

h 3 | feg A faer 3

ﬁﬁnfrwét—amﬁw‘dﬁf

(b)y 4
(e) 3
a 2

aa|Gwawu3?ﬂ%ICBé}u3ﬁ
I1AGTa¥s3ewI I D, Cw
m%ms'EETﬁBr%lFAETBaT
?I»BBETUBH?MB?EWE&
forsr 3 2

(a) 3=

(b) IS

(c)

(d)

Paper Il {h=27)
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57. A bartender stole -
that containeq 55"‘“‘“ from bottle A | 67, feg wrd2@d 36 A fm feg 50%
replaced whqt % alcohol and he WEIIT 3, fog 2 99" I3
:c;dl;a from hot| ee Bhacd tstf)]gn wét; 5 gafemn do 3 8 8 #3% B, fAA
C 0 - Sald ge-a—r"
bot(:leo l.B £ used waterntz":'lenpgleﬁis}i fq'gg 20% e 8, - 2 e
bottle A Which is twice ag large as Fod 1 G0Em B 3, AEBATE
content ;>f b I the mixing, alcohol gz Wdg @3, wﬁ_m A I
What is the ¢ A reduced to 30%. | 7 fir | frree Fame, #50
g S the aleohol content of bottle B g wisg® o HEGnwE @ 307 ng
(a) 667% el 3%%8933?’5 >
b)) 1
% (a) 667%
() 13-33% (b) A0%
d) 15% (e) 13:33%
_— @M15% .
 Rate of consumption of coal by = 58 2 os o gord A & WS T IS
Sp§£0hv3 varies as the square of the Je3d < (square) B'® e’ 3
e and 1s 1000 kg/hour when the S 60 fa@Hed 1{3°f uer
tllie a:ls 60 km/hour. Tf the eoal costs = 57 1000 fodnder T | Fad
ife rthway cor}x:pany 15 paisefkghand hiz I dust § 15 /B
e other expenses are X~ o~ oA - ~ = o
12 rupees/hour, what becomes th/(e U "3 H’i(&' 99 ?38\12 WM
total cost with a speed of 30 km/hoyg ? 1= 3 30 famieanier € foAd &8
(a) 270 paise/km 5 dtiz flet A 9 2
(b) 165 paise/km A (@) 270 DR/foHtes
(c) 495paise/km N (b) 165 J/fe@Hted
(d) »Noneé of the gb Q} (c) 495 IR /fadHed
{L d) Bo3 feg agt &t
59. 59.Afeaa“w_§.ﬁmafes+faaga

A completég of a certain job In
1
7s.\B C

ay % complete 3 of the same

¢ job in 12 days. All of them work
scther for 4 days and then Aand C
quit. How long will it take for B to
complete the remaining work alone ?

(a) 2:67days P L
‘ 7 14 e Jaa
b 333days e )
(c) 4days vy
@ 467 days et
>
-
Paper Il w

W%lB@ﬁﬁH?%’ﬁmnfg

' fuot few yT 5@ Fowr 3 w3 C R

éﬂ?%mmﬁﬁﬁgmm
5| Fy 9 fes fEcd dH F9E Ts |
33 Am3I CES AR TG | BYEl

fetat AHT Bdiar ? -
(@) 2:67fe5 .
b 333fes p kL P
© 4fes 7" %
@ 4671 I
Jstt—=
a4t
§
O T




60.

|
|
|
[

|

A book containg
Ams 10 chaptops, Each | ¢o

chaplm. hu‘s a different numbor o (
p;mmﬁ, ranging from 20 {4 30. The fipsg
chapter startg on page 1 and onch
chapter starts on & new page. What ig
(t:::e tlm‘g‘toist possible  number of

apters that can be in o
o | g on odd page
@ 9
(b) 8
() 6
d 5
A ladder reaches a window that is 8 m
above the ground on one sidegof the ["61.
stx:eet. Keeping its foot on the same
point, the ladder is twinod to the other
side of. the street to reach a window
12 m high. Find the width of the street
if the ladder is 13 1,
(a) 152m
(b) 14m
(c) 146 m
(d 12m’

Sanjay writes a lettd

@Q b end,

Kesari. It is known tMytNone out of | 62.
LOuletters” that are ‘éd does not
reachyits destinamjoN: If Sanjay does
not receive a r o his letter, then
what is the p 1lity that Kesari did
not receiv jay’s letter ? It is
certain esari will definitely
reply t njay’s letter if he receives
it,
(a)i —

19

9

10

1

10

9

100

(D-29)

frst yrER fou g ot g 1 9d
wiftoorf four 20 ] 8o S8 il nlﬁ“ﬂll
foreft O UK T8 RIS Hiftoor (e
B 1 YGRS i aa wrftmr
U8 3 omd® e ) i A
forad AXS Warfes e
))”ilm'\&, Yn‘a (odd) wiw =% & o
g J. &Y 98

2 N

™

n) 9
W) 8
(¢c) 6

d) b

o n{g@\c

8 )% B fugelt Ja atdt 3

C3 D oot St U ¢

e @ wnd w12 Mes @t fral

JRUTE st N fmr | fea U
13129 J 3t pga o Jandft &9

() 162 MHeg

O g um ugdl F

b) 14 Htew
(¢ 14-6Mteg
d) 12Mes ‘
ﬁﬁwu%ﬁha&na‘fﬁthaﬂww
1 feT Uz ¥ fy g few u ot
STt e few U39 ifgw da adt
udeer | AT AR § mm@ Usg e
AeE &df fimer 3t fom & Hgres
(probability) ot 3 fx amdt & My er
U39 &t m ffenr ¢ feg fsrfys D
ﬁﬁ&nﬁmﬁﬁﬁ%%m
8r 3 UsT yuz § mrer |
(a) 10

19

9
(b) 0

1
(C) E

9
(d) 100
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Nrollag i' " otal of 1 atudonts nre
Progray, the forolgn  Inngungon
ffereg ar 10 foroign  angungon
0 : AN .
r ¢ in Y French, Gorman and

ing
the numbr of pooplo

Cne )
0 h of thogg subjocts nre 80,
of 8ty do;u TO8pectivoly, Tho numbor
A
Who Btudy more (than one

of the g,
TC0 Kubjoeqy in 50% more than

of Studonts who ftudy all
Bubjocts,

Budy )
lﬂngungoﬂ ?

Ying
0 anq

the numjyq,

the thl‘o(\

Studeng How  many

threo  foroign

(a) 18

(b) 24

(c) 36

(d)

4

)
o

g nlarmea
Qﬂ. 21 and T

at regular intorvals ¢
minutes 1'(3H[)0(:Li($& I the clocks
: A ?.L noon, for which

Threealarmiglocks ring

woild they beop togother

(¢) 28 minutes

an, o pges s e et & AT
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fafemral) (e i) et e
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(n)="18 (7
() 24 Q}i

o QN
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64, 4 o vl gy foule wag
20, 21 w3 T et 3 nuE nergy
@Y on | Rew ule 12 e el
feratfentt wmr R e st & fan
Yoy v e feetfiont wd) e
N A Y

(d) 38 minutos
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(h) 18fe
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65. A person of 6 {4, height, wants to pluck
which i
' , 4

distance from the top of n 20 ft, high
The person  standing ot 4
distance of 28 ft. from the tree throws
a stone, which hits the top of the tree,

a fruit in hanging st

tree,

The man moves towards the tree and
throws another stone again at the
same angle, this time hitting the fruit,
Assuming the stones travelled in 4
straight line from the hand till the
target, what is the current distance of

the person from the tree ?
(a) 211t
(h) 181t
(c) 151t

(d) 9ft \

66. The cost of 10 pears, 8
6 mangoes I8 44, 1f theyost of each

' ' 1?@ is a natural

0 two fruits is the
i 4 mangoes and

%

8 and

2

(d) Cannot be determined

Paper 1)
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@ 217z

(h) ﬁq
oy e

10 BHUSMH, 8 wiHge w3 6 WiE ot
dHZ 7 44 T | F9 79 25 & FHz
Uz ﬁafeaa_reaé’r vid (natural
number) 3 W3 fan ¥ 2@ o vz
feg fadt st 3 30 4 wiw w3
3 niHget &t dH3 TR |

(a) 7 17
(b) ¥ 18
() % 14

(d) ferfes &dt &3 77 gger
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Questions no

S« ¢y
\‘hat 1S }‘Dllr

R gng »
S Oeloge SN@ answer the
R . Q S%iet .

¢ uestion that
) U ask
Jused o

\A
0 7R

o3
N Eyou do not w
R

Ille, my

ant
und to be asked
1dea] would be a
3 _Equality ang
AT objection
Imagine
mobile. ...
consciously

there shoulge Soclety
COmmunjegt o
DOt merely
Primarily 5
conjoint comm
€Ssentially gp
Teverence tow :

to Liberty? Fe\a\f?)i'feuowmen‘ A{fg‘t;bjection
! at t ﬁ‘eemovement.in‘thee esen:ﬁ\e
E}i};ﬁ— to life ang Hmb.. . Why nzltlse;ﬂ(li\i

Y to benefit ;
competent use of 5

shoulq
-“ iIl N
ed ang sharet[ei rests

& form of

LTS

TOVernment. It is

Qmpert?, would not readily consent to
l}berty 1n this sense, inasmuch aSitinvolves
liberty to choose one's proféssion. But to
object to this kind of libe

rty 18:te perpetuate
slavery. For slavery does not mepely eqgf

legalized form of subjection. .. It is d
where, as in the Caste S_\‘Stex%\ome
persons are compelled to carry@ ertain
prescribed callings which of their
choice. Any objection to Equali§y ? This has

obviously been the most tious part of
the slogan of the Revolution....
PTG, C but nonetheless

as the governing
s pdwer is dependent upon
jty. (2) social inheritance
ye form of parental care,
of scientific
vthing which enables him to
snt than the savage, and

2 spects men' a?e
& fial eB\I;t the question 1s, shall wz ;zz;;;
. . they are un 7
because y e

un
them as unequal

It may be desirable to give

(D-

paper |l

centive as possible to the full
of everyone's powers.  But what would
happen if men were treated unaqually as
they are, in the first WO respeets Mo Tt as
obvious that these individuals @lso.in whose

development

~

vour  there i birth. education, = thmily
Dame, business connections fnd inherited
Wwealth would be seleeted I the race. But
selection under such Sirvumstances would
not be a selection of the alle. 1t would be the
selection of the pfivdeced.... On the other
hand it can be urgeddhat if' it s good for the
social body to g8t the most out of its
members, it calfget most out of them oaly
by makidg them equal as far as possible at
the vefy start of the race. That is one reason
why Wweltannot esegule squality. Bat there is
anothe® reason ¥ we must  accept
| fequality. A St&r wn is concerned with
Vast numbe® Wheople.... The Statesman,
' therefore U ... treat all men alike not
because 108, are  alike but  because

| cla @ 0 and assortment is impossible.
| . .
; ctrine  of  equality

18 glaringly
fallaMous but taking all in all it is the only
Way a Statesman can proceed in politics

hich is a severely practical affair and
1ich demands a severely practical test,

75. Which of the following is NOT a
reason that the writer gives for
desiring equality in a democracy ?

(a) It makes people equal as far as
possible at the very start of the
race.

(b) It ensures that the preexisting
social equations continue.

(¢) Statesmen deal with large
numbers of people who are too
vast to classify and assort.

(d) Statesmen require a practical

plan of action

politics. .

76. According to the writer, supporters of

caste would object to liberty in the
sense of

to proceed in

(a) right to free movement

(b) right to choose one's profession
(c) right to life and limb

(d) right to property

34)



77. What are t}e three aspects in which
men

‘undoubtedly unequal,’

heredity;  Parental
§ own education
Chysica) appearance, Parental
mheritance; His own enthusiasm
lysical strength; Social status;
1S Own spirituality
Physica) heredity;

mheritance; His own efforts

Property: Hj

(d)

Social

78. If selection ig done on the basis of

bll't_ > education, family name,
usiness Connections and inherited

Wwealth, then it would be

(@) selection of the privileged

selection of the able
selection of the meritorious
selection of the fortunate

c)

Read the following passage and answer
Question Numbers 79 and 80 with reference
to the bassage by choosing the most
appropriate option, :

eminism at its core is about equality of
men and women, not ‘sameness’, So many
people offer up the argument that women
are not the ¢

same’ as m
there can’t be equality. Imyether wor
ir bodies are different (ma

these physical differences mea
not possible. If there were \‘&

two g boys in
a classroom, and@ne was Kl“l&&ally weaker
and smaller than t o¥hagr

, would we
believe i eaker, smaller
me access to the

0 the computers, to the
ces, to other children
decause he didn’t have the
girength as the other boy? It
desstand that “same” does
/The issue here is about
: equal access to
tunities. Men and women don’t have to

be the“s&me” physically in order to have the
right to equality. Feminism as an ideology
has always been highly controversial. It
asks such questions as: do women have too

Paper I

en and therefox’e\‘

(D -

oS

0

\2 ©
. . ly
r too little power? It is not on

::I(l)lrllglov(:ersial as far as traditional d;fegd;x;:
of the status quo are concerned. So e
women feel that they are in fa\i;)ur.d
equality with men, but do not like t e idea
of feminism. It has been said that we live uz
a post-feminist age and some contend tha

2

the main goals of feminism have been

i so that it is quite unnecessary for
;‘gfrlxilrzl?g{s to continqe 'their argument
against male dommathn. Feminism,
however, is also controversialhin the sense
that different feminists mean d}fferent
things by the term. Therge are different
varieties. that seem to have little In common,
Just as writers.have spoken of somahgm, S0
feminism has also been presented in the
plural in_erder to indicate the diversity
involved.

79. #Men and wo ek{don’t have to be the
‘same” phy ctébv in order to have the
b right to e ty.” Why ?

(a) B the theory of feminism
é%)te that men and women

\&N(}jb)

longer in a classroom and
can have equal access to learning,
books and class resources.

Because the theory of feminism
promotes that both men and
women are anatomically same
and therefore

Possess  equal
mechanical strength. :

Because the theory of feminism
promotes that men may or may
not be feminists but they believe
in equal classroom learning.

Because the theory of feminism
promotes that being “same”

(c)

@

understand that
“same” does not mean “equal

at does thig statement imply ?
men and women are “same”
but never “equal”,
nly men apqg women who gre
feminist can be “same” and
Sometimes “equal”.
No Man or woman can either be
Same” or “equal”. '

(a)

(b)

(c)
(d)

are not “same”

35)

pA-14



	409a3b61fd52c06175bbd0a03cb294282e4ad6067faf5076d7b6a2ec43eb0b85.pdf
	409a3b61fd52c06175bbd0a03cb294282e4ad6067faf5076d7b6a2ec43eb0b85.pdf
	409a3b61fd52c06175bbd0a03cb294282e4ad6067faf5076d7b6a2ec43eb0b85.pdf
	409a3b61fd52c06175bbd0a03cb294282e4ad6067faf5076d7b6a2ec43eb0b85.pdf
	409a3b61fd52c06175bbd0a03cb294282e4ad6067faf5076d7b6a2ec43eb0b85.pdf

